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�>EFD>5=<5 6OE>44 =4>?>==>7> E?>O ?> M?5<5=F4< 74?574=<O < <>M=>EF< E?>O.  2 
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�>EFD>5=<5 75>?>7<G5E>>7> D47D574  G5D57 <>=>>?<=4?L=GN EFDG>FGDG 

2 

�45>D4F>D=4O D45>F4 7 10 
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�45>D4F>D=4O D45>F4 7 14  
�>EFD>5=<5 75>?>7<G5E>>= >4DFO E D47DO6=O<< =4DGL5=<O<<. 
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�45>D4F>D=4O D45>F4 7 15  
�?D545?5=<5 6>7D4EF4 D47DO6=OE =4DGL5=<= 

2 

�45>D4F>D=4O D45>F4 7 16  
�>EFD>5=<5 D47D574 > 75>?>7<G5E>>= >4DF5 E D47DO6=O<< =4DGL5=<O<<. 2 
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�$ 14-15 
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F5? < <E <>DD>?>7<G5E>4O E4D4>F5D<EF<>4. %>EF46 <=FDG7<6=OE <4EE<6>6, 
<7>5D465=<5 <E =4 75>?>7<G5E><E >4DF4E. $>D<O 74?574=<O MDDG7<6=OE < 
?<D>>?4EF<G5E><E ?>D>4. 'E?>6<O =4>>??5=<O 6G?>4=>75==OE F>?M. 
�?D545?5=<5 6>7D4EF4 MDDG7<6=OE ?>D>4, <7>5D465=<5 <E =4 
75>?>7<G5E><E >4DF4E < D47D574E 

2 

2 'E?>6<O >5D47>64=<O < D>D<O 74?574=<O <5F4<>DD<G5E><E ?>D>4. �D4=<F>-
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� F>< G<E?5, ?D4>F<G5E><E 74=OF<= < ?45>D4F>D=OE D45>F 10 

�45>D4F>D=4O D45>F4 7 18  
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�45>D4F>D=4O D45>F4 7 19  
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�45>D4F>D=4O D45>F4 7 20 

$45>F4 E 75>?>7<G5E>>= >4DF>= D4=>=4 D4E?D>EFD4=5=<O <47<4F<G5E><E < 
<5F4<>DD<G5E><E ?>D>4. �?D545?5=<5 6>7D4EF4 ?>D>4. �>EFD>5=<5 D47D57>6. 
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�45>D4F>D=4O D45>F4 7 21  

$45>F4 E 75>?>7<G5E>>= >4DF>= D4=>=4 D4E?D>EFD4=5=<O <47<4F<G5E><E < 
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�45>D4F>D=4O D45>F4 7 22  
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?D<5<O 75>?>7<G5E>>7> >4DF<D>64=<O. �MD>- < >>E<<G5E><5 <5F>4O 
75>?>7<G5E>>7> >4DF<D>64=<O. %>45D64=<5, ?D<=F<?O < 6<4O 4MD><5F>4>6. 
'E?>6<O ?D<<5=5=<O 4MD>D>F>EN5<>< �E=>6O 45L<DD<D>64=<O 
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�45>D4F>D=4O D45>F4 7 24  
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�<?NF<=, �. �. �5>?>7<O ?>?57=OE <E>>?45<OE : GG55=<> < ?D4>F<>G< 4?O ED54=57> 
?D>D5EE<>=4?L=>7> >5D47>64=<O / �. �. �<?NF<=. 4 �>E>64 : �744F5?LEF6> .D4=F, 
2022. 4 197 E. 4 (�D>D5EE<>=4?L=>5 >5D47>64=<5). 4 ISBN 978-5-534-03552-0. 4 

&5>EF : M?5>FD>==O= // �5D47>64F5?L=4O ??4FD>D<4 .D4=F [E4=F]. 4 URL: 

https://urait.ru/bcode/492402 (44F4 >5D4M5=<O: 12.02.2025). 

2 �>D>=>6E><=, �. �. �5>?>7<O : GG55=>5 ?>E>5<5 4?O ED54=57> ?D>D5EE<>=4?L=>7> 
>5D47>64=<O / �. �. �>D>=>6E><=. 4 2-5 <74., <E?D. < 4>?. 4 �>E>64 : �744F5?LEF6> 
.D4=F, 2023. 4 194 E. 4 (�D>D5EE<>=4?L=>5 >5D47>64=<5). 4 ISBN 978-5-534-

08484-9. 4 &5>EF : M?5>FD>==O= // �5D47>64F5?L=4O ??4FD>D<4 .D4=F [E4=F]. 4 

URL:  (44F4 >5D4M5=<O: 12.02.2025). 

3 �6G5=>>, �. �.  $<7<>>-E<<<G5E>>5 <>45?<D>64=<5 <<=5D4?L=OE E<EF5< : 
<>=>7D4D<O / �. �. �6G5=>>, �. �. 'G4=5=>>, �. �. �?5>E4=4D>6. 4 2-5 <74., <E?D. < 
4>?. 4 �>E>64 : �744F5?LEF6> .D4=F, 2023. 4 232 E. 4 (�>FG4?L=O5 <>=>7D4D<<). 
4 ISBN 978-5-534-08840-3. 4 &5>EF : M?5>FD>==O= // �5D47>64F5?L=4O ??4FD>D<4 
.D4=F [E4=F]. 4 URL: https://urait.ru/bcode/517049 (44F4 >5D4M5=<O: 12.02.2025). 
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�5D<>4<G5E><5 <744=<O (>F5G5EF65==O5 6GD=4?O): 
7 
?/? 

�EF>G=<> 

1 �F5G5EF65==4O 75>?>7<O : =4GG.  6GD=4? /GGD54<F5?< : �<=?D<D>4O $$, $�%���, 
$�'� &���$�; &5=FD4?L=O= =4GG=>-<EE?54>64F5?LE><= 75>?>7>D47654>G=O= 
<=EF<FGF F65F=OE < 5?47>D>4=OE <5F4??>6. 3 �>E>64 : &���$�. 1933  3. 4 

�OE>4<F 6 D47 6 7>4. 3 ISBN ?5G4F=>= 65DE<< 0869-7175. 3 &5>EF : M?5>FD>==O=  // 
-�% elibrary [E4=F]. 4 URL : https://elibrary.ru/contents.asp?id=50390599 (44F4 
>5D4M5=<O: 12.02.2025). 

2 $57<>=4?L=4O 75>?>7<O < <5F4??>75=<O : =4GG. 6GD=4? /GGD54<F5?< : $��' 
"�E5D>EE<=E><= =4GG=>-<EE?54>64F5?LE><= 75>?>7<G5E><= <=EF<FGF <<. �.�. 
�4D?<=E>>7>" 3 �>E>64 : 1993  3. 4 �OE>4<F 4 D474 6 7>4. 3 ISBN ?5G4F=>= 65DE<< 
0869-7892. 3 &5>EF : =5?>ED54EF65==O=. 

3 �D<D>44: =4GG.-?>?G?. 6GD=4? / GGD54<F5?< : $��;  �4GG=O= < <744F5?LE><= F5=FD 
"�4G>4" $��. 3 �>E>64 : �4GG=O= < <744F5?LE><= F5=FD "�4G>4" $��, 1912 3. 4 

�OE>4<F 12 D47 6 7>4. 3 ISBN ?5G4F=>= 65DE<< 0032-874X. 3 &5>EF : 
=5?>ED54EF65==O=. 

 

�=D>D<4F<>==O5 M?5>FD>==>->5D47>64F5?L=O5 D5EGDEO: 
7 ?/? �EF>G=<> 

1 -?5>FD>==4O 5<5?<>F5G=4O E<EF5<4 «�<5?<>&5E. �744F5?LEF6> ��'»    
https://mgri-rggru.bibliotech.ru 

2 -?5>FD>==>-5<5?<>F5G=4O E<EF5<4 «�744F5?LEF6> �4=L»/ >>??. �=65=5D=>-

F5E=<G5E><5 =4G>< (&N<�')  
www.e.lanbook.com   

3 -?5>FD>==>-5<5?<>F5G=4O E<EF5<4 elibrary» / �D46>>5?444F5?L: �5M5EF6> E 
>7D4=<G5==>= >F65FEF65==>EFLN «$'�-�» (RU) 

 https://elibrary.ru 

4 -?5>FD>==>-5<5?<>F5G=4O E<EF5<4 «-�% .$��&» / www. urait.ru 

 

4. ���&$��, � �&���� $��'�,&�&�� �%�����/  
''����� ��%&�����/ 

$57G?LF4FO >5GG5=<O �D<F5D<< >F5=>< �5F>4O >F5=>< 

�5D5G5=L 7=4=<=, >E64<645<OE 6 D4<>4E 4<EF<??<=O 

�=4=<O: 
ý <5F>4O EFDG>FGD=>= 

75>?>7<< < 75>?>7<G5E>>7> 
>4DF<D>64=<O; 

ý ?5D6<G=O5 < 6F>D<G=O5 
D>D<O 74?574=<O 
>E44>G=OE ?>D>4; 

ý 7>D<7>=F4?L=>5 < 
=4>?>==>5 74?574=<5 E?>U6; 

ý E>?44G4FO5 D>D<O; 
ý D47DO6=O5 =4DGL5=<O; 
ý D>D<O 74?574=<O 

�>?=>F4 7=4=<= (>5N5< 7=4=<= 6 
E>>F65FEF6<< E ?D>7D4<<>=); 
>E>7=4==>EFL 7=4=<= (6O45?5=<5 6 
<4F5D<4?5 7?46=>7>, <E?>?L7>64=<5 
?D<5<>6 4=4?<74, ED46=5=<O, 
>5>5M5=<O, <7?>65=<O 7=4=<= 
E6><<< E?>64<<, ?D<6545=<5 
?D<<5D>6, 4>>474F5?LEF64); 
45=EF65==>EFL 7=4=<= (7>F>6=>EFL 
?>?L7>64FLEO <<< ?D< D5L5=<< 7444G, 
?D<<5D>6, 6O?>?=5=<< G?D46=5=<=, 
FDG4>6OE 7444=<=, ?45>D4F>D=OE 

 

&5EF<D>64=<5. 
'EF=O= >?D>E. 
�<EL<5==O= 
>>=FD>?L. 
->E?5DF=>5 
=45?N45=<5. 
�<DD5D5=F<D>64
==O= 74GUF. 

https://clck.yandex.ru/redir/nWO_r1F33ck?data=NnBZTWRhdFZKOHRaTENSMFc4S0VQRXZLSW9LeEFnQlk2XzM1SFpXdVVJd1BzQnJRb1czcGl4eW5YVXp4MVpRSVVQVmh4VTlZVG1idUNsS0dUTlhtdUQzZ0VfR0RXR24yck5jMFJrUVdHcHNBYWRPVjVUU285dw&b64e=2&sign=d41143eaa87864d2f866cddf54951de4&keyno=17
https://clck.yandex.ru/redir/nWO_r1F33ck?data=NnBZTWRhdFZKOHRaTENSMFc4S0VQRXZLSW9LeEFnQlk2XzM1SFpXdVVJd1BzQnJRb1czcGl4eW5YVXp4MVpRSVVQVmh4VTlZVG1idUNsS0dUTlhtdUQzZ0VfR0RXR24yck5jMFJrUVdHcHNBYWRPVjVUU285dw&b64e=2&sign=d41143eaa87864d2f866cddf54951de4&keyno=17
http://www.e.lanbook.com/
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<47<4F<G5E><E < 
<5F4<>DD<G5E><E ?>D>4; 

 

D45>F, >?OF>6); 
 ?D>G=>EFL 7=4=<= (7>F>6=>EFL 
6>E?D><76>4<FL EGM5EF65==O5 
>><?>=5=FO GG55=>= 45OF5?L=>EF<); 
7>F>6=>EFL > F6>DG5E>>= 
45OF5?L=>EF< (?D>O6?5=<5 
F6>DG5E>>7> ?>4E>44 > D4E>DOF<N 
<4F5D<4?4, 4>744?<6>EF<, 
E>>5D47<F5?L=>EF<). 

�5D5G5=L G<5=<=, >E64<645<OE 6 D4<>4E 4<EF<??<=O 

'<5=<O: 
ý EFD><FL ?D>D<?L <5EF=>EF<; 
ý EFD><FL 75>?>7<G5E><5 

D47D57O E D47?<G=O< 
74?574=<5< E?>U6; 

ý G<F4FL < 4=4?<7<D>64FL 
75>?>7<G5E><5 >4DFO; 

ý E>EF46?OFL 75>?>7<G5E><5 
>4DFO, EFD4F<7D4D<G5E><5 
>>?>=><; 

ý >?D545?OFL M?5<5=FO 
74?574=<O E?>O; 

ý >?D545?OFL 6<4O D47DO6=OE 
=4DGL5=<=;  

ý >?D545?OFL D>D<O 
74?574=<O <47<4F<G5E><E < 
<5F4<>DD<G5E><E 7>D=OE 
?>D>4; 

ý 45L<DD<D>64FL 4MD>- < 
D>F><4F5D<4?O; 

- EFD><FL 75>?>7<G5E><5 >4DFO 
< D47D57O ?> 44==O< 5GD>6OE 
E>646<=. 

�D>G=>EFL G<5=<= < =46O>>6 
(7>F>6=>EFL 6>E?D><76>4<FL 
EGM5EF65==O5 >><?>=5=FO GG55=>= 
45OF5?L=>EF<); 

?D46<?L=>EFL (G<5=<O < =46O>< 
GEF=> < ?<EL<5==> <7?474FL GG55=O= 
<4F5D<4? < 45?4FL MF> 557 >L<5>>); 

4>>GD4F=>EFL (?D< E>EF46?5=<< 
7D4D<G5E><E ?>EFD>5=<=) 

 

 

&5EF<D>64=<5. 
'EF=O= >?D>E. 
�<EL<5==O= 
>>=FD>?L. 
->E?5DF=>5 
=45?N45=<5. 
�<DD5D5=F<D>64
==O= 74GUF. 

 

 

 

 


